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1. Attempt ALL questions.

2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
Q.1 Fill in the blanks using appropriate choice from the given options.
1  Theslope of line 2x+y—-8=01is.............
1 1
(a) 2 (b) -2 (©) 5 (d) - 5
2  Xintercepts of line 2x+3y—-4=01is .............
1 1
(a) 2 (b) -2 (c) 5 (d) - 5
3 The distance between the points (1,1)and (2,-1) is .............
(@) 5 (b) 25 ) 5 (d) 15
4 The centre of the circle x* +y*=251is .............
(a) (0,5) (b) (0,0) (c) (5.5) (d) (5.0)
S If f(x)=log(e*) then f(0)=.............
(@) 0 (b) 1 (c) 2 (d) e
6 lim sinx
Xm0 T T teescesseaee
(@)1 (b) -1 ()0 d) «
7 d , .
&(a ): .............
(@ a (b) a*log, a (c) x*log, a (d) log, a
8 di(log sinX)=...........
X
(@) sinx (b) cotx (c) -cotx (d) tanx
9 di (tan™ x+cot™ X)= ............
X
(a) 1 (b) -1 (c) 0 @ 3
10 1
dX=............ +C
I 1+ x°
(a)sin™ x (b) cos™ x (c) tanx  (d) cot™x
11 I(sin2x+cosz X)X =............. +c
(@ 1 (b) x (c) sin2x (d) cos2x
12 di(x2 F2X4T) =i,
X

(@) 2x+7 (b) 2x+2 (c) 2x*+2 (d) 2x*+7
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Q.2

Q.3

Q.4

Q.5

13

14

(@)

(@)

If mean of 4,7,6,k,5,9 is 6then k=............

@) 4 (b) 5 (c) 6 ()9

If given data is 8,7,4,5,6,9,7,3,8, and 7 then Mode is ...........
(@5 (b) 7 (c) 8 (d)9

Attempt any two

Prove that (4,8) (4,12) and ( 4+2+/3,10) are the vertices of an equilateral
triangle

Find the equation of line passing through points (—1,2) and (1,-2) also find
the slope of line

Find centre and radius of circle x* +y*—2x+4y—-1=0

Attempt any two

If f(x)=|og(1_—xj then prove that f( ZXZJ:Zf(x)
1+x 1+x

4 2
. X"—8x"+16
Evaluate : lim —————
X-2 xX°—3X° +4
1-cosx
2

Evaluate : lim
X -0 X

Attempt any two
If y=x*tan x then Find ay
dx

If y=log(secx+tanx) then Find %
X

If y=x*then Find ay
dx

Attempt any two

if y =28 e fing 3

1-sinx dx

2
If y=log [x+«/1+ x? } then prove that (1+ xz)g—g + xg—y =0

X X
The Motion of a particle is given by s =t>+2t> —3t+5 find the velocity and
acceleration at t=1sec. and t=2 sec.

Attempt any two
4 2
X"+ X +1
Evaluate: | 232 " ax
X°+1
2 in
Evaluate: I—+352| de
CoS” X

Evaluate: j e sec? x dx

Attempt any two
Evaluate: J. xe” dx

\/SIn X dx

2
Evaluate: j
2 A/COSX ++/sin X

Using integration Find the area of circle x*+y* =a?

T

Attempt any two
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Q.1

10

11

) x(x+1)
Evaluate: I|m2—
X—a X° +5X+6

Show that the points (a,b+c),(b,c+a) and (c,a+b) are collinear

Show that the line 3x—2y+5=0 and 2x+3y—7 =0 are mutually

perpendicular
Attempt any two
Find the Median of the frequency distribution given in the following table

Class 10-20 | 20-30 |30-40 |40-50 |50-60 |60-70 | 70-80

freq. 2 3 8 14 8 3 2
Calculate the mean deviation from the median
34,38,42,44,46,48,54,55,63,70.

Calculate the standard deviation for the following data
69,67,68,66,69,64,63,65,72.

Ao ([Aseu ule 531 wicll ol YA,

QUL 2x+y—8=0 oll LA ............ L2
(@) 2 (b) -2 © @-
QUL 2x+3y—4=0 oll X W& UR oll vlctWS ............ )
(@) 2 (b) -2 © 5 @ -3
(gl (11) AR (2,-1) AR AAR ..o al
(a) 5 (b) 25 () B (d) 15
Adn x*+y? =25 of Bos ............. Al

@ (0,5)  (b) (0,0) (©) (5,5) (d) (5,0)
o f(x)=loge*) Al fO)=..........

@0 (b) 1 (c)2 d) e
lim SINX _
L
; @1 (b) -1 ()0 d) «a
&(ax) Y

(@ a (b) a*log, a (c) x*log, a (d) log, a

%(Iog SiNX)=..............
(@) sinx (b) cotx (c) -cotx (d) tanx

di (tan”" x+cot™'X)= ...
X

(a) 1 (b) -1 ()0 @ 7
I ! Sdx= ... +c

1+X

(a)sin*x (b) cos*x (c) tan'x  (d) cot'x
J(sin2x+cosz X)dX=........... +c
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(@ 1 (b) x (c) sin2x (d) cos2x

i(x2 F2XHT) =i,
dx
(@) 2x+7 (b) 2x+2 () 2x*+2 (d) 2x*+7
4,76,K594 ol Hrads 6 8lal dl K= .............
(@) 4 (b) 5 (c) 6 (d)9
U soll 8,7,4,5,6,9,7,3,8,04a 7 oll GIGES ............ 8.
(@) 5 (b) 7 (c) 8 (d)9

518 ueL ol awal.
galcdl ¥ (4,8) (4,12) WA (4+243,10) AHes AsWaL ol [QAALlg B.
(g (-1,2) wat (1,-2) Hiell urtr acdl 2wt of wls20L 0. ual

Q.3

L ol 3l

Aol X2 +y? —2x+4y—-1=0 of Jos WA Al Ancll.

518 uRL ol a1l

B f(x)= Iog( Xj Al WA 5A ¥ f(

($uct e : Iim#
X-2 x° -3X"+4

Bud el : fjm 20X
X—0 X

Sl ueL & ol
ol y=xtanx cﬂ ﬂ‘d]

ol y:Iog(secx+tanx) cﬂ %‘l‘cﬂ
RAy=x A Y aa
dx

sl ueL ol ol

081 y = 1+sinx (_u dy %Tm
1-sinx dx

A y:Iog[x+«/1+x2} ladl WA 53 (1+x2)d2y

As 50l oA of uHlsW s=t3+2t2
WL Aell AdL Ul Yaol el

$18 uRL ol ol

Bud A - jx X+X 1+1dx
+

Bud A - j2+35'nxdx
COS™ X

(Exct A : je‘anxsec x dx

j:Zf(x)
X

dx?

dy
dx

=0

—3t+5 8lal Al t=1 Wal t=2 sec.

08

06

08

06



Q.5

(b)

sle uRl ol a1ell 08
I xe* dx Aol

smx

I\/cosx +4/sin x

Ascotoll Heedl adn x?+y? =a?qj AaAsn AL

dx Aol

R ERARI 06

Eud 0 ;i X(X—+1)

X—a x? +5X+6

AUt 5A3 (g3 (a,b+c),(b,c+a) val (c,a+h) UHW B.

Gl ¥ QWAL 3x—2y+5=0 ¥l 2x+3y—7=0 URUR AuUB.

518 ueL ol ol 03
o(lAatl AR (AcdQL ol Htaure N,

R 10-20 | 20-30 |30-40 |40-50 |50-60 |60-70 |70-80

Q,,uq'[a 2 3 8 14 8 3 2

o{lA WAAL HUEA Wl Hearzu ol AR21eL [y WAL
34,38,42,44,46,48,54,55,63,70.

(IRl HUBA 12 yrQd [Quctst 2.
69,67,68,66,69,64,63,65,72.
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